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program exercise
c copyright Tatsuki Oda (2008.04.14)

implicit double precision (a-h,o0-z)

implicit integer (i-n)
parameter (nx=10000)
dimension y(nx)
open(unit=11,file=’data.in’)

open(unit=16,file="data.out’)

for input
input data from (11)

O o o o 0o



o o o o

00 (000)00000

read(11,*) nperiod ! number of period

pi=datan(1d0)*4d0
ndperperiod=100
dx=2d0*pi/ndperperiod

do 5 iperiod=1,nperiod
do 6 id=1,ndperperiod

in=(iperiod-1)*ndperperiod+id

if (in.gt.nx)then
write(06,%*)° #i#t### error #Hit####H’
write(06,%*)’ nx is too small ’
stop

endif

x=(iperiod-1)*2d0*pi+(id-1)*dx
y(in)=cos(x)
n=in

6 continue

5 continue

for output
output data to (16)

write(06,%*)’n=",n

do 10 in=1,n
x=dx*(in-1)
write(16,500)x,y(in)
500 format(el5.7,f10.5)
10 continue

stop
end



3. ggboo 3

3 Uogoon

gbbbouoooobbbuodiblgfortrandgdnboogg
%> gfortran -o exercise.x exercise.f
gobbbbbouooooobbbbbbodooooobobbbbboooooobbobo
gobobbobboogogoobbobobbbuoooooooboboobbbbbood
gbboboodaobood
gboboodbbuggbboodbbboobobbuoobbiddiUmakedd 00
gbbbooobobbboooobbbuooobobboood
%> make
gbdbobdobodobodbobobbouobuodobdbiobdbUmakefiledonn

gboboboooobbobooon

4 0O0O0OO

OO0O000o0bdbbOdatainD 0000000000 ooboooobooon
gbbbuoogobbbuooobbboloooobbbuoooobobod

data.in0 Q00O

10

googg
%> ./exercise.x

gbhobooogbdbobiliggbobobodbdgibddata.cutdogogon
gboboboooobbbooobbbuooobbboood

00000 0Omored 0 000emacs 00O O0OOOOO

%> emacs data.out &
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5 Uoooboon

UO00O0DgnuplotUOOOOOOOOOOOOdata.in000goooooon
00 cosOODOOOOOODOOONO

gobobobbuoooogobobbuoooooobboobouooooobbobon
gooo



